[bookmark: _Hlk94618783]BODMAS
[bookmark: _Hlk94365376]Pearson Edexcel - Tuesday 21 May 2019 - Paper 1 (Non-Calculator) Foundation Tier
1. 
[image: ]

Pearson Edexcel - Tuesday 6 November 2018 - Paper 1 (Non-Calculator) Foundation Tier
2. 
[image: ]







Pearson Edexcel - Tuesday 12 June 2018 - Paper 3 (Calculator) Foundation Tier
3. 
[image: ]

Pearson Edexcel - Thursday 2 November 2017 - Paper 1 (Non-Calculator) Foundation Tier
4. 
[image: ]

	


OCR Monday 11 November 2019 – Afternoon (Calculator) Foundation Tier
5. 
[image: Chart, box and whisker chart

Description automatically generated]


























OCR Tuesday 11 June 2019 – Morning (Calculator) Foundation Tier
6. [image: Text

Description automatically generated]





OCR Thursday 7 June 2018 – Morning (Non-Calculator) Foundation Tier
7. [image: Graphical user interface, text

Description automatically generated]




















OCR Monday 6 November 2017– Morning (Calculator) Foundation Tier
8. 
[image: Chart, box and whisker chart

Description automatically generated]


























OCR Thursday 8 June 2017 – Morning (Non - Calculator) Foundation Tier
9. 
[image: ]










OCR Sample Question Paper 2 – Morning/Afternoon (Non - Calculator) Foundation Tier
10. 
[image: ]


















OCR Sample Question Paper 3 – Morning/Afternoon (Calculator) Foundation Tier
11. 
[image: ]





AQA Tuesday 19 May 2020 – Morning (Non-Calculator) Foundation Tier
12. 
[image: ]









	



AQA Tuesday 21 May 2019 – Morning (Non-Calculator) Foundation Tier
13. 
[image: ]

[image: ]






AQA Tuesday 6 November 2018 – Morning (Non-Calculator) Foundation Tier
14. 
[image: ]
AQA Thursday 24 May 2018 – Morning (Non-Calculator) Foundation Tier
15. 
[image: ]

AQA Thursday 24 May 2018 – Morning (Non-Calculator) Foundation Tier
16. 
[image: ]















AQA Thursday 25 May 2017– Morning (Non-Calculator) Foundation Tier
17. 
[bookmark: _GoBack][image: ]
image6.png
3 Insert brackets to make each of these calculations correct,

5x3-1=10
3+6-2+2=35

4 Work out 20% of 40.

@2

2]
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(a) Work out.

@M 10

(@)

(i) 98-3x2)

(if)

(b) Put brackets into this sum so that the answer is correct.

1+42x3+5=17 4]
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(a) Workout.

() 1+4:2

®) Evaluate.

0 2°

@ a0

(¢) Estimate the value of

23139
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®)0) m

m

-3





image9.png
8

(a) Evaluate.
@ 121

(i) 4

(b) Work out.
(©-3x2)°

(€) Fillin the power.

5 =125

m
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1 (a) Workout.

4x2-1

-1

(b) Find % of 16.

(b) .. -1
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16 Leo is using these numbers to make a new number.

" 1 3 6

He can use brackets, +, —, x and = as often as he wishes.
He cannot use any number more than once.

He cannot use powers.
He cannot put numbers together, e.g. he can't use 136.

Whatis the biggest number he can make?
‘Show how he can make this number.

No|
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Work out

(43 x 8)— (234 6)

[3 marks]
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5 (a) Workout 364.5+17.9-2.08
[2 marks]
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5 (b) Workout  9.36x2
11 mark]
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13 Workout ~ 4+3x5-1

Circle your answer.
[1 mark]

16 18 28 34
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12 @

12 )

Wokout  164-392+478
12 marks]

Answer

Workout 28436147
[2marks]
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Work out 121 - (13-5x 27
[3 marks]
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3 2+0+1+7=10

Make the following calculations correct.

Useonlythe symbols ~ +, —, X, + and ()
[3 marks]
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3 Workout 10x (3 +5)

(Total for Question 3 is 1 mark)





image2.png
5 (a) Workout 3 x5+7

m
(b) Work out  2*

[0}

(¢) Write brackets ( ) in this statement to make it correct.

7x2+3=35

[0}

(Total for Question § is 3 marks)
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15 Jenny is asked to find the value of ~ 12-2x4

Here is her working.
12-2x4=10x4 =40

Jenny’s answer is wrong.

(a) Explain what Jenny has done wrong.

[0
Rehan is asked to find the range of the numbers 3 1 8 7 5

Here is his working.
Range =5-3=2

This is wrong.
(b) Explain why.

[0

(Total for Question 15 is 2 marks)
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2 Workout 2+7x10

(Total for Question 2 is 1 mark)
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(a) Here are some types of number.

Aneven Anodd A prime. A square.

rumber number number rumber
From the list, write down the type of number being described.
Anumber that does not divide exactly by 2

Anumberthat has no factors except itself and 1. .

Write down all the multples of 4 between 21 and 29.

(b))

Write down a common muliple of 4 and 6.

W

(¢) Insert brackets to make this caloulation correct

4-1x2=6

(@) Write 7% as a fraction.

A cube
number

m

m




